Question No : 1 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following statements 1s TRUE regarding Profitability Index?

[Answer ( Please select your correct option )

It ignores time value of money
~
It ignores future cash flows
o
It ignores the scale of investment
-
It ignores return on investment
C
Wade By: Wagar Siddhu
Question No : 2 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

A company can improve (lower) its debt-to-total assets ratio by doing which of the following?

[Answer ( Please select your correct option )

By increasing the amount of borrowings
-~
By shifting short-term to long-term debt
o
By shifting long-term to short-term debt
~
By selling the common stock.
C
Wade By: Wagar Siddhu
Question No : 3 of 27 Marks: 1 (Budgeted Time 1 Min)  [=)|

If you want to earn 8 percent, approzimately how much should you pay for a security which matures in one year at Rs. 1,0007

Answer ( Please select your correct option )

Rs. 1,080
”
Rs 940
o
Rs 920
5
Rs 926
&}
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Question No : 4 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is an expected rate of return on a bond if bought at its current market price and held to maturity?

[Answer ( Please select your correct option )

Tield to maturity
~
Current yield
o
Coupon yield
-
Capital gains yield
C
Wade By: Wagar Siddhu
Question No : 5 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Which one of the following terms refers to the variability of return on stocks or portfolios, associated with changes in return on the market as a whole?

[Answer ( Please select your correct option )

Unsystematic risk
-~
Unique risk
o
Systematic risk
~
Company specific risk
C
Wade By: Wagar Siddhu
Question No : 6 of 27 Marks: 1 (Budgeted Time 1 Min)  [=)|

If the common stocks of a company have beta value equal to 1, then such stocks refer to which of the following?

Answer ( Please select your correct option )

Normal stocks
-~
Aggressive stocks
o
Defensive stocks
-~
Income stocks
&}
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Question No : 7 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

If the common stocks of a company have beta value less than 1, then such stocks refer to which of the following?

[Answer ( Please select your correct option )

Normal stocks
~
Aggressive stocks
o
Defensive stocks
-
Income stocks
C
Wade By: Wagar Siddhu
Question No : 8 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Suppose you have a 2-stocks portfolio, which consists of Stock & and Stock B. If stock A has a beta value of 1.8 and stock B has a beta value of 0.68, and your investment in stock A and stocks B is =4
equal, then the beta of this 2-stock portfolio would be equal to which of the following?

[Answer ( Please select your correct option )

1.20
-~
1.24
o
1.30
~
145
C
Wade By: Wagar Siddhu
Question No : 9 of 27 Marks: 1 (Budgeted Time 1 Min)  [=)|

Which of the following statements i1s TRUE regarding a firm that is totally (100%) financed by equity?

Answer ( Please select your correct option )

- Its Return on Equity (ROE) is equal to its Return on Assets (ROA)
5 Its Return on Equity (ROE) is less than its Return on Assets (ROA)
& Its Return on Equity (ROE) is greater than its Return on Assets (ROA)
- Its Return on Equity (ROE) and Return on Assets (ROA) are zero
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Question No : 10 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

A Levered firm has a lower weighted average cost of capital as compare to an Un-levered firm because of which of the following?

[Answer ( Please select your correct option )

-

Interest tax shield

Low level of financial risk

Low level of business risk.

Low level of systematic risk

Wade By: Wagar Siddhu

Question No : 11 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following is a disadvantage of Capital Asset Pricing Model?

[Answer ( Please select your correct option )

o

It considers market risk

It can be used for listed companies

It can be used for non-listed companies

Itis based on past data

Wade By: Wagar Siddhu

Question No : 12 of 27

Marks: 1 (Budgeted Time 1 Min)  [=)|

Which of the following are the primary sources of capital to the firm?

Answer ( Please select your correct option )

o

Net income, Retained earnings and Bank loans

Bonds, Preferred stock and Common stock

Operating profits, Extraordinary gains and Dividends

Amortization cash flow, Net income and Retained earnings
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Question No : 13 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

An investor would be exposed to which of the following risks, if he may have to sell a bond prior to maturity and interest rates have risen since the bond was purchased?

[Answer ( Please select your correct option )

The coupon effect risk
~
Interest rate risk
o
Inflation risk
-
Unique risk
C
Wade By: Wagar Siddhu
Question No : 14 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following refers to the profit that results when a financial asset is sold above its purchase price?

[Answer ( Please select your correct option )

Capital gain
-~
Capital dividend
o
Capital premium
~
Capital appreciation
C
Wade By: Wagar Siddhu
Question No : 15 of 27 Marks: 1 (Budgeted Time 1 Min)  [=)|

Which of the following statements is CORRECT regarding the fundamental analysis?

Answer ( Please select your correct option )

- Fundamental analysts use only Economic indicators to evaluate a stock
5 Fundamental analysts use only financial information to evaluate a company’s stocks
& Fundamental analysts use financial and non-financial information to evaluate a company’s stocks
- Fundamental analysts use only non-financial information to evaluate a company’s stocks
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Question No : 16 of 27

Marks: 1 (Budgeted Time 1 Min) (=)

Which of the following focuses on long-term investment decision-making process?

[Answer ( Please select your correct option )

Working Capital Management
~
Capital Budgeting
o
Cash Budgeting
-
None of the given options
C
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Question No : 17 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

Salvage value of any asset is treated as at the end of project.

[Answer ( Please select your correct option )

Sunk cost
-~
Net cash
o
Outflow
~
Inflow
C
Wade By: Wagar Siddhu

Question No : 18 of 27

Marks: 1 (Budgeted Time 1 Min)  [=)|

Which of the following is an assumption of capital asset pricing model?

Answer ( Please select your correct option )

Portfolio beta must be greater than 1
-~
Portfolio beta must be less than 1
o
Portfolio beta must be equal to 1
-~
Portfolio beta must be 2
&}
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Question No : 19 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Reward to risk ratio of a security is also known as:

Answer ( Please select your correct option )

Per unit risk
-~
Per unit systematic risk
o
Per unit unsystematic risk
-
Per unit reward
C
Wade By: Wagar Siddhu
Question No : 20 of 27 Marks: 1 (Budgeted Time 1 Min) (=]

Which of the following represents risk premium of a security A7

[Answer ( Please select your correct option )

B — B¢
-~
R.-R¢
o
Bm—Ra
~
Ba+Re
C
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Question No : 21 of 27 Marks: 1 (Budgeted Time 1 Min)  [=)|

leads towards higher output to reach at breakeven point.

Answer ( Please select your correct option )

High fized cost
-~
Low fized cost
o
Constant fixed cost
-~
Higher variable cost
&}
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Question No : 22 of 27

Marks: 1 (Budgeted Time 1 Min) (=]

What is the earning per share (EPS) for a company that earned Rs. 100,000 last year in after-tax profits, has 200,000 common shares outstanding, and Rs.1.2 million in retained earnings at the year end?

Answer ( Please select your correct option )

Rs. 6.50
.
Rs. 6
(@]
Rs. 100,000
.
Rs. 0.50
C
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Question No : 23 of 27

Marks: 3 (Budgeted Time 6 Min) (=]

capital budgeting decision or not? Justify your answer.

R & S beverages are thinking to introduce a new product line of flavored milk for which they have paid consulting fee to perform market test. The cost of consultation paid last year is relevant cost in —

Answer ( Please click here to Add Answer )
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Question No : 24 of 27

Marks: 3 (Budgeted Time 6 Min)  [=]|

Consider following data for two securities:
Securities Ezpected return | Beta
A 18% 2

B 15% 1.5
Assume risk free rate is 13%

1. Calculate risk to reward ratio of each security.

-

Answer ( Please click here to Add Answer )
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Marks: 3 (Budgeted Time 6 Min)  [=]|

Question No : 25 of 27

Suppose you have invested 40% of funds in stock 4, 30% in stock B, 20% in stock C, and 10% in stock D. Beta of the stocks &, B, C and D are 1.2, 1.4, 0.8, and 1.1 respectively. Calculate the —
portfolio beta.

Answer ( Please click here to Add Answer )
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Question No : 26 of 27

Marks: 5 (Budgeted Time 10 Min) (=)

-

Following table shows the returns on ABC stocks for the period 2003-2007.

Year | Rate of Return

2003 31.29 &=
2004 23.43

2005 23.56 &

Answer ( Please click here to Add Answer )
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Question No : 27 of 27 Marks: 5 (Budgeted Time 10 Min) (=)

>

Rehan Corporation has issued following bonds to finance the upcoming project.

Bond issue Book value Tield to maturity
®Rs.) I
A 130,000 14%
B 250,000 12% =

Answer ( Please click here to Add Answer )
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Marks: 5 (Budgeted Time 10 Min) (=)

Question No : 27 of 27

-

A 130,000 14%
B 250,000 12%
C 320,000 13.5%

Regquired: Calculate weighted average cost of debt based on book value of bonds if tax rate is 34%.

41

Answer ( Please click here to Add Answer )
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